§=1:2,500

= = 7

T

0.5

1:25, 000

S=

170

Fregg

HC.
=L THD,

W
L

P i) 244

1§

B R DK

5|
B H1[2125000 (3t

«ZOHIXIE,
¥

143.9

43

1E
1E

S YEEYI
AT HEBESIBNA

K UEEYI
SOKN/ i AT D R 45

AT HEBESIB AN

EAVIm| sokv/miziEz BRs

IWKE| 2z 210

2=

AL

a
REHAERR AR E BHET

SN IMUT ORI
ERTBHLEE

i, 55615%5)
1 )008

el

THEGAEI

o

-

=
=

26

8
"ARD

=
=1

THRD
FYUEEYI
ENBNDOKREEDRAKN/M)

X 12

*

s
b4
o]

%
FTEHE

=

(K
15

BRERDIE

RigES
X

4% Al

X
THEHRE

= &(m)

BRROAMERTIROLERD




5=1:25, 000

B R L Gl s

CZOHIXIE, E EMER R OARERS T, FBEREITO
HfiE 1125000 (M| @i {g) L7 D TH D,

(ERER V264, $6155)

BRERDIELE TER

XEES 1LY008

Xigi 4 e

F7EHh REHAERR AR E BHET
TRKE

TRKE
R
X 15

TAERICEYEEMIE
AT HEBESIB AN
50kN/mi %% B Xigt

TERIC&YEEMIE
AT HEBESIBNA
SOKN/ i AT D R 45

TAEROEESAIMUTORXE

TERICEYEEMERTHERE

SNBHOKEEDBAKN/M) 1439
BROADEATIBEOLEROSEM | 43

S

~ U

S0 SN

SN

(BB LK RS
AL ' .
?ﬂ\ﬂiﬂ” 1%

e

|
i

)

|
i

N

1
1

RN

N S

W




:

(

u}
_.-o-“-““r
n
U
5\
1 II|
\
)
\\
\
/

i KA R
/
3/3]

(==
| : ,

T—
[E@EEXIL

]
-
(-
L
!
e
T
I
|
y
\
11
I,
i
==

™
i
|
!
4
/
~,
o

FFE R 75 IR

;
o
]

f
|
|
|
|
[ ]
pid
<

B/ LK RS

=
4,
N
| | — 2
) TN
¥ d
- 74
lllll r
|
i
\
.__
i ——
|
2
/r/
i _./
AN
|
e A
— S I/
(R
i
) L
L
Al )
Z2\ I\ b=
AY)
i L
= Bl
%R
o B
5/ |
WCR TR
Tyl i
: ,,.E:_M._mﬂ ) N
L N "”””" [=>]
g &= R i )
3 m AR < <~
e NN —
B8 e N
E Y = N
V3 ¢ m
o > o o 7’ ]
ey K £2 155 | W
S x| solise . o #
Ra & % g Mg B J S
i e y gl K N e
QN HI Suslsu sl x O E i
=2 B £ PRyPRy E oS
HEx |g|3l=|s EoElgNE = EZ | H
A B . 218 | R [ I “Z | S
=M i .T_ o |7 .__Ha 3 3| q II._A .
b= Hyx HEJHES N H
S| g = 1 =W | ©
f ﬂﬁ6 ® | 85 S Saq o
& s g W | R = B v
T EOIv i o S HE
Al o = g | HIEWK | 3 >K | X
| == S g | ®
§ mm% & | o o W B Ul | R
TEk  |B(wlE R A ® BKel| €
ST (¥ (B|®|H | T 2= e | K
)3 o[ | | i H T Hio | o




	告示(A3)2500-1
	告示(A3)2500-2
	告示(A3)2500-3
	4-7

